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Quiz Date: 7*" May 2020

Directions (1-5): Study the following information carefully and answer the questions given
below:

Eight people viz. K, L, M, N, O, P, Q, R are made to sit in a row. Some of them are facing north while
some of them are facing south. No two successive people sit with each other except L and M according
to alphabetical order (such as K does not with L and P does not sit with O and so on). They all visit
different places for holiday viz. Nalanda, Jodhpur, Goa, Nainital, Gulmarg, Kutch, Darjeeling and
Rishikesh. Q sits third to the right of O. The one who visit Darjeeling sits second to the left of K. The
one who visit Gulmarg sits at an extreme end. Both N and R are immediate neighbors. The one who
visit Nalanda sits fifth to the right of the one who visit Gulmarg. Q sits second to the right of R who
visit Gulmarg. Only one person sits between the one who visit Rishikesh and the one who visit
Darjeeling. Q does not visit Rishikesh. The one who visit Kutch sits third to the right of L. N visit Goa.
The one who visit Nainital sits second to the left of N. Both Kand Q are facing same direction. The one
who visit Nainital sits fourth to the right of the one who visit Kutch. M and the one who visit Rishikesh
is facing south direction.

Q1. Who among the following is facing north direction?
(a) L
(b) K
(M
(dQ
(e)P

Q2. Who among the following visits Jodhpur?
(a) L
(b) K
()M
(dQ
(e)P

Q3. Who among the following sits third to the left of the one who visit Nainital?
(@)L
(b) K
(c)R
(d)Q
(e)P

Q4. Which of the following combination is true?
(a) L-Nalanda

(b) K-Jodhpur

(c) M-Goa

(d) Q-Gulmarg

(e) P-Kutch

Q5. Which of the following place is visited by the one who sits immediate right of 0?
(a) Darjeeling

(b) Kutch

(c) Jodhpur

(d) Goa
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(e) Nainital

Directions (6-10): Study the following information carefully to answer the below given
questions.

Nick and Nate started walking in opposite directions. Nate started from point A and after walking 3
meters he reached point B. From point B he turned left and walked 3 meters to reach point C. From
point C he turned towards right and walked a certain distance before taking another right turn to
walk 6 meters towards south direction and reach point Z. From Z he turned towards his right and
walked 4 meters to reach point D which is 4 meters to the north of E. Point D, B and C are inline.
Point G, A and B are also inline. Nick started in west direction opposite to Nate and after walking 10
meters he reached point F from where he turned towards his right and walked 7 meters to reach
point G which is 7 meters away from point A. Point G is not in north of point Z.

Q6. In which direction did Nate start his journey?
(a) North

(b) East

(c) West

(d) North-East

(e) Cannot be determined

Q7. What is the shortest distance between point B and D?
(a) 3 meters

(b) 4 meters

(c) 6 meters

(d) 10 meters

(e) Cannot be determined

Q8. Point D is in which direction with respect to point A?
(a) North

(b) East

(c) West

(d) South-East

(e) Cannot be determined

Q9. What is the shortest distance between point B and Z?
(a) 5 meters

(b) 4 meters

(c) 3 meters

(d) 7 meters

(e) None of these

Q10. What is the distance between point B and point G?
(a) 1 meters

(b) 10 meters

(c) 13 meters

(d) 15

(e) None of these
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Directions (11-12): In each question below is given a statement followed by two conclusions
numbered I and II. You have to assume everything in the statement to be true, then consider the
two conclusions together and decide which of them logically follows beyond a reasonable doubt
from the information given in the statement.

Give answer:

(a) If only conclusion I follows

(b) If only conclusion II follows

(c) If either I or II follows

(d) If neither I nor II follows and

(e) If both I and II follow.

Q11. Statement: A neurotic is a non-stupid person who behaves stupidly.
Conclusion:

[. Stupidity and neuroticism are related.

II. Normal persons behave intelligently.

Q12. Statement: Vegetable prices are soaring in the market.
Conclusion:

I. Vegetables are becoming a rare commodity.

II. People cannot eat vegetables.

Directions (13-15): Study the following information carefully and answer the given questions.
Amongst six friends i.e. A, B, C, D, E, and F, each gets different percentage of marks in the
examination. B scores more than C and A. D gets 60% marks. E gets half marks than F gets. D gets
more than B. The one who gets highest marks gets 80% marks. C and A each gets atleast 42%
marks.

Q13. Who scored the second lowest marks?
(@) C

(b) A

(c)B

(d) Either (a) or (b)

(e) None of these

Q14. Who among the following gets highest marks?
(@ E

(b)D

(c)B

(d)F

(e) None of these

Q15. Who among the following gets 40% marks?
(@A

(b)E

(cC

(d)B

(e) Either (b) or (c)
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S8. Ans.(d)
S9. Ans.(a)
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Solutions (11-12):

S11. Ans.(a)

It is mentioned in the statement that a neurotic is a person who behaves stupidly. So, I follows. The
behavior of a normal person cannot be deduced from the given statement. So, II does not follows.

S12. Ans.(d)
The availability of vegetables is not mentioned in the given statement. So, I does not follow. Also, I
is not directly related to the statement and so it also does not follows.

Solutions (13-15):
Sol. F (80%)>D(60%)>B>C/A>C/A>E(40%)

S13. Ans.(d)

S14. Ans.(d)
S15. Ans.(b)
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